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( ) 1. BRLIIGERZ ABCD @ » AB=AD=2"' /C=60° /D =105 » N3I{O&EEE
iR? (A) BD=2+3 (B) ltB¥#&E =2 (C) AC=/6-2 (D) ZACB = 30°

( ) 2. 0 RE_ZRRA » AINIIFEI IS EE <
.0 % % %
(A) smE <0 (B) cosE >0 ©) tanE <0 (D) cotE >0

( )3. &R A> B9/ 2 MokE | 43 2 B - TYIRMOEBIERE <
(A)EA’=08lA=0 B)YEA=1"AlA=1FA=-1I
C)EA=A"BJA=0F A=l (D)EAB=0'detA=0'8/B=0

( ) 4. FIIREL - OEBHEER <
(A)-x*+3x-5>0 (B)-x*+2x-3<0
(C)X*+3x-1>0 D)x*-=x+2>0

( ) 5. ME FIIEHBIAABC » OBIEE—@E <
(A)a=1'b=+v2 > A=30° (B) ~A=30°" /B=60°> ~C=90°
(C)a=2'b=3°¢c=5 (D)a=v6++2 *b=2+ ~A=105°

( )6. MBICy: X +y?P—6x—2y+1=0"°Cy: x*+Vy*+4x + 3 =0NALHRKA
R0 (0< 6’<% ) » BITNSIRGI O EEEER <

(A) NADIRER R V22 (B) AALIREREA V10
(©) FADSNZIR(> > —)  (D)sin =

( )7. AABCH > CA=3 > CB=5 > £ACB=120° BITBIRUM - {THB5R <
(A) AB=7 (B) A ABC Eif&= ?
© ABIBCZE®RSE (D) BOR EDPERER !
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AE M) = > a, =3 =+ af
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a,,—a,=4n+3
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2. B 50 (IBENSSLL 165 A » 175 AP ARFDIE=E » EAZWTE
B R g 5 N
— 165 NDLAF 15
- 165~175 XD 27
= 175 AL 8

FE—EDMEL 3 A HESDBEIA 154 A0 » 16080 » 163 A0 : R _ED
WEL 5 A EEEDBIA 175 A0 » 168 A0 » 166 70 * 173 /N0 » 171 N
FE=FBDOME 2 A\ HEESDBIA 185 A4 » 179 A0 : SukEZINELENEITES

3. BnomAWMBRE - WRC" :C™:CM?=6:9:138Bln=__ @ o

4. A, B, and C are three know types of alloy that contains gold, silver, and copper
with weight ratios of 5:2:1, 2:5:1, and 3:1:4, respectively. If one is trying to make a
new type of alloy weighing 9 kilograms that has same amount of each alloy, how
much of alloys A, B, and C does one need? @) .

5. b8 a=sin587° » b = cos(-589°) * ¢ = tan951° * d = cos1781° * e = sin(— 913°)8IK
NBF & -

6. The point P is inside of a square ABCD, and AP=7, BP=5, CP= 1. Calculate the
area of the square ABCD___ (6) .

7. E/AABCHI=EBLA* /B ZCiRE sinA = 2sinCcosB * BIAABC IFEMRA (D
=Aaf -

2_ 2_ 2_
8. 240 xyz;tO’%9x—4y+32:—7x+2y+152:13x—8y—z’%ﬁ?ﬁjx S A —"

x> —5y® —62° +2xz
2E_® -
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REAZRR 12.5% » FIKENEGE » AIRDVEIXDTF (BT ~FMAMNTE
BEAEH 215 ¢ (log2 =0.3010 * log3 =0.4771)
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